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2.

INSTRUCTIONS TO THE CANDIDATES
This Question Booklet is printed in two languages—^Ilindi and English. Candidates can select any one of the
two languages according to their convenience.
There are two papers in the State Eligibility Test. The first question paper (compulsory question paper) is
General Paper on Teaching and Research Aptitude. The second question paper is the subject selected by the
candidate. Only one combined ORIIl sheet will be provided for both the question papers. The Second paper of
optional subject will be given to the candidate at 1 p.m. The code of the second question paper subject selected
by the candidate should be marked in the OMll Sheet. The booklet number of the second question paper has
to be marked in the necessary entries. The candidate can start second question paper at 1:05 p.m. There are
100 questions in the second question paper (optional subject). The squence of these questions is 51 to 150. In
a combined O.M.R. Sheet, the candidate should mark the answers of the second question paper in the part of
Second Question Paper. The candidate himself will be responsible for marking the answer in the wrong
order.
All questions are comi)ulsory.

4. All questions c.arry equal marks. 2 marks will bo given for each correct answer. There is no provisions for
Negative Marking.
Onl'ic cover page the number of pages is indicated in the Question Booklet. The examinee should verify that
the requisite number of pages are attached in the Question Booklet, otherwise he/she should ask for another
Question Booklet.
IleadcarcfuIlytheinstructionsgivenonthcAns%verShcet(OiyiRShcet)suppliodandindicatcyouranswcrsaccordin^y.

7. Kindly make necessary entries on the Answer Sheet (OMR Sheet) only at the places indicated and nowhere else.
8. Examinee should do all rough work on the spaces meant for rough work in the pages given in the Question

Booklet and nowhere else, not even on the Answer Sheet (OMR Sheet).
9. If there is any sort of mistake either of printingor of factual nature in any question, then out of the Hindi and

English versions of the question, the Hindi version will be treated as standard.
10. Use of any type of calculator, log table etc. is prohibited.
11. Candidates will leave the Examination Hall only after handing over the ORIR Sheet to the Invigilator at the

end of the examination at 3:05 p.m.
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51. \

WdPldl ^

■W^hKlrHch dqil<lcH'=h -Wd^d I ^

(A) "^."^ "frr^

(B) im

(C) "#T

(D) "^.TT -^T^

52. PinRiRad -t^^d'^di 3TR

^^Hdl Wn f ?

(A) ^ (B)

(C) 3TR.TT^. ^ (D) ^

53. ^

3fk ^m^3Tl-* ■% *aq^q^

MPdMlRd "f^ ?

(A) ^'?TT{

(B) ^.-q;?!. fm

(C)

(D) dlf^d)

■54. PinRiRad dild ' yi^jiRi^

i^o&id ^ y^iddi I" ?

(A)

(C)

'(5)S/27/2022/A

(B) off^

(D)

51. Who in his book *Two Concepts of

Liberty' classified the concept of liberty

into positive and negative liberty ?

(A) J.S. Mill

(B) Isaiah Berlin

(C) T.H. Green

(D) RA. Hayek

52. For whom among the following liberty and
equality are mutually antithetical ideas ?

(A) Lord Acton (B) Laski

(C) R.H. Tawney (D) Rousseau

53. Who propounded the philosophical idea

of 'veil of ignorance' to determine the

basic institutions and structures of a just
society ?

(A) Jeremy Bentham

(B) J.S. Mill

(C) John Rawls

(D) Robert Nozick

54. Who among the following is not a

proponent of the natural theory of rights ?

(A) Hobbes (B) Locke

(C) Rousseau (D) Bentham

P.T.O.



55. rHHFdRsid ^ ^

"^TTM ̂  ^^HPd STR

^ WfTT#if ̂  Trf^ ^

t ?

(A) ̂

(B) ̂

(C)

,  (D)

56. rdHPcdRsld ^

TffcTO: % 7

(A) WTTf^

(B) 't<^a^ai

(C) ^HP^wJJdl

(D) y^HPd

57. ^ TTm ^Pd^l^

YT PHHPdP^d "^* ^ 37T?^TfeT

2^T ?

(A) ̂ *TTf

(B) ̂ TWT

(C) WTcT^

(D) 3TTf^

(51S/27/2022/A

55. Who among the following views political

power in terms of rational consent of the

governed and obligation of the power-

holders towards the subjects ?

(A) Hobbes

(B). Locke

(C) Filmer

(D) Weber

56. Liberalism is not committed to which of

the following ?

(A) Social group or collective body

(B) Freedom

(C) Toleration

(D) Consent

57. According to Marx the first era of human

history was based on which of the

following ?

(A) Tribal conflicts

(B) Slavery

(C) Feudalism

(D) Primitive communism



58. ^ -4*

"^IrT t" ?

(A) ^

■q™ t

(B) ^ ̂  "t "% TTPT^ v:l1q'1
sfpc ^fnjfe ^ %TT

■sratto t

(C) ^ "RH^ ^27T ^iPd^ciKl

■g^M ^ -rt^ ^JTdT t

(D) "R^ RT^ ■% RfR ^Of^*

RR WT f

59. R^^'^PcIRK RJt * 3nRR^ RTR RRT
t ?

(A) WT "RTRTf^ arPRRHT

(B) T3^ "RRH ^0^ ^H'^fd

.  (C) fR^RRR^ dMiRdidl

(D) 37Tffe WRRT

60. "^HNRK STT^R ^ f S^T

^ I" "R? ?

(A) ^it.^.y,H. ql-s

(B) ^RT^

(C) ^.^."q?R. Riter

(D)

(5)S/27/2022/A ;

■ 58. Which of the following statements is true

. with regard to ecologism ?

(A) It regards nature as a valuable

economic resource

(B) It argues that human life has

unlimited possibilities for material

growth and prosperity

(C) It approves human self-

interestedness and materialist

tendencies

(D) It raises the question of moral

obligations towards future

generations

59. What is the basic demand of

multiculturalism ?

(A) Common social rights

(B) Single common national culture

(C) Differentiated citizenship

(D) Economic equality

60. "Socialism is a movement and ideology
also." Who said this ?

(A) C.E.M. Joad

(B) Charles Fourier

(C) GD.H. Cole

(D) J.S. Mill

P.T.O.



61. PinHrlRsId ^

t ? '

(i) t I

(ii) ^ ̂  \ \

(iii) TF*^ oqf^ "1" I

(iv) <idH"i "^3lT Tt^

31^ ̂ 1cH feT^ 'iRl^Fltn "t I

(A) (i)

(B)

(C) (i) STK (iv)

(D) (iv) sik (ii)

62. rHHrdRsld •^' ^ ^

■  • ■=!ff t ?

(A) TRT Mi^Pd^h ^8^1 srfta "4ter
t

(B) ^ t ̂
t

(C) ^<=t)K ^ 37T^ ydiK f"

(D) Priy,

^ t A ^ ^ ̂  %T

(5)S/27/2022/A

61. Which of the following statements can

be attributed to Plato ?

(i) The State is the individual writ

large.

(ii) I am the State.

(iii) The State is prior to the individual.

(iv) The State comes into existence for

the sake of life and continues for

the sake of good life.

(A) Only (i)

(B) All of the statements

(C) Only (i) and (iv)

(D) Only (iv) and (ii)

62. Which of the following statements

cannot be attributed to Aristotle ?

(A) State is a natural and organic
compound

(B) That constitution is best which will

last the longest

(C) Democracy is the ideal form of
government

(D) Some are bom to rule and others to

be ruled

4 •



63. I II ̂

^  tttt ̂  ^ ̂

"^PFT ^)tf%TT ;

"^11

(a) Ar=t)<Hi(^cril (1) e

STNi" Rnfqcri

(b) ̂  (2)

(c) (3)

(d) (4) 3#T ■

"f^

^ •

(a) (b) (c) ' (d)

(A) (1) ■ (2) (3) (4)

(B) (4) (3) (1) (2>

(C) (2) (1) (3) (4)

(D) (3) (2) (4) (1)

64. Pi^^PeiRsici y|(^Rl4i 3FFrai

t3:^\wwtct (^ -qr Tmtfer)

3TOTOIT T? ^ t ?

(A) (B) qTO

(C) (D)

(5)S/27/2022/A

63. Match List I with List II and select the

correct answer using the codes given

below the lists :

List I List II

(a) Machiavelli (1) Two Treaties

of Civil

. Government

(b) Hobbes (2) Social Contract

(c) Locke (3) Leviathan

(d) Rousseau (4) Discourses on

.  Livy

Codes :

(a) (b) (c) (d)

(A) (1) (2) (3) (4)

(B) (4) (3) (1) (2)

(C) (2) (1) (3) • (4)

(D) (3) (2) (4) (1) '■

64. Who among the following made a

distinction between Natural inequality
and Conventional (i.e. moral or political)
inequality ?

(A) Rousseau (B) Locke

(C) Hobbes (D) Bentham

P.T.O.



65. PHHrdRsid yPdHKd

fir^ fen ?

(A) dchKkMd) -wa^ai

(B) Tftf^srt' ^ stPtok fer

^Hl

(C) ̂ Tfe^

(D) ̂ -^KKHqi I^cfer

66. "nfe ̂  37^ -Wl^dK ̂  37^

t ?

(A) ^ ̂ aifdHldd^dK

(B) ^

(C) d'Ifdel'l, "^FTR

(D) 9lfef ■# fe TRI ^ ^
■^n^* ^ feW

67. PHHPdP^sId ^ ^
iiddlfddi [ddiO yPtPife^ di<d(

t ?

(A) erfef ?ifeT ^ "^n^nr
t  .

(B) Xl^ 4<A^d< ^
t

(C) XRT inf t
(D) TRT XTTHTffe^ xm#TT t

(5)S/27/2022/A

65. Which of the following was not

advocated by J.S. Mill ?

(A) Negative liberty

(B) The granting of equal rights to

women

(C) Individualism

(D) Positive liberty

66. What according to Marx describes

communism best ? •

(A) Dictatorship of the Proletariat

(B) Nationalisation of the means of

production

(C) Classless, stateless society

(D) The* creation of Laws in the

interest of the workers of the State

67. Which of the following statements is

representative of the political philosophy

of Hegel ?

(A) The State is a means of exploitation

of workers

(B) State is the march of God on earth

(C) The State is a necessary evil

(D) The State is a social contract



68. PiHRifed ^ ̂

(A) "Q;^ ̂  ̂ ffeq

(B) el Ml

(C) t?id1 elTeT f^RTR

(D) ^

69. rHHRrlRsId. ■^* ^

"nrot t ?

(A)

(B) iw

(C) "Ste dld^-^

(D)

70. ^ t :

(A) djJlRdi ^ ai#T -

(B) ^ddl §"oe5I 37?frT

(C) <1^1 13;^ ■^*

(D) ^ <iiM< "Q^ chqei yi(j)Ri=t)

(5)S/27/2022/A

68. Which among the following is not

associated with Mao Zedong ?

(A) One Country Two Systems

(B) Long March

(C) The Little Red book

(D) Cultural Revolution

69. Which of the following books was

authored by Antonio Gramsci ?

(A) Confessions

(B) Prince

(C) Prison Notebooks

(D) Social Reform or Revolution

70. For Hobbes the sovereignty is :

(A) Subject to civil law

(B) Subject to the will of the people

(C) Divided between King and

Parliament

(D) Above the law and accountable only

to God under the law of nature

P.T.O.



71. ^ ^ chlPiQ-H ^ ^

(A) 5

(C) 4

(B) 3

(D) 6

72. '■"PtRI-Tl-'SI^KRi'' ^ til-l 'f ?

(A)

(B)

(C)

(D)

73. "^f wftfW C Wftfe 3;Tf^l^

^ C ' '^* 37RTT-fR^
^  cti<ai ^ I 3t^ eVii ^

3P1^ 3TIR "31^ ^ ^m,Mi l"

W t ?

(A) ^

(B) trfk

(C) Wit

(D) 9lt

74. ^ 31^ 37?

^ feRT ^ 3T^^«7R t ?

■  (A) 5 (B) 7

(C) 4 (D) 3

(5)S/27/2022/A 8

71. Which place did Kautilya give to the fort

from the point of view of'SAPTANGA' ?

(A) 5 . (B) 3

(C) 4 (D) 6

72. Who is thewriter of'Fatwa-e-Jahandari' ?

(A) Mohd. Iqbal

(B) Ziauddin Barani •

(C) Kabir

(D) M.K. Gandhi

73. "Neither I am a politician nor a political

activist. I care about my soul. When it is

well then every thing will be well by

itselh" Who said it ?

(A) M.N. Roy

(B) Rabindranath Tagore

(C) Swami Vivekananda

(D) Sri Aurobindo

74. According to Javid Nama of Muhammad

Iqbal, how many stages are in the
development of Ego ?

(A) 5 (B) 7

(C) 4 (D) 3



75. -trfeciT vmi ̂  ii f

3^?: 3TRT#T^ ^p|f%

^  t ?

(A)

(B) ̂  ̂ ̂

(C) 3T^ olTf^ ̂  tto^ ̂

(D)

76. ^ ̂  ^ ̂OTcIT I

^ ̂ ^£27^ ̂  ̂ T7RT

■f^ ^ 87t 7

(A) TFq^ (B) Tjmf^

(C) T^ikK (D) ^RklciK

77. TTPmR ^ 37^mT^ ^

t ?

(A) H?CT Tnift

(B) -m

(C) uf^TW^T HKI-iJui

(D) "^.STK. 3TT^^^

78. HClcHl "nNt ^ 37f|^ ;5j^

t ?

(A) 4 (B) 6

(C) 5 (D) 3

(5)S/27/2022/A

75. In which book Pandita Ramabai wrote

that self-confidence and self-dependence
are the foundation of women's progress ?

(A) The High Caste Hindu Women

(B) Stri Dharma Niti

(C) Early Life Story and Travel in India

(D) Famine Experience in India

76. "The watchman cannot be greater than
treasure. Treasurer will remain smaller

than treasure." In which reference Pt.
Deen Dayal Upadhyaya said this ?

(A) Statism (B) Marxism

(C) Capitalism (D) Individualism

77. Who has given the concept of New
Humanism ?

(A) Mahatma Gandhi

(B) M.N. Roy

(C) Jai Prakash Narayan

(D) B.R. Ambedkar

78. How many types of Non-violence are

there as mentioned by Mahatma Gandhi ?

(A) 4 (B) 6 ■

(C) 5 (D) 3

P.T.O.



-^f ?

(A) 1914 (B) 1913

(C) 1916 (D) 1912

80i

1^ ?

(A) 25 :fTf, 1882. .

(B) 24^,1885

(C) 28 TT^, 1883

(D) 22^, 1887

81. RHRriRsId fePl

Tif t ?

(A) ̂  MlPcrird^hcri 1953

(B) "R "t^TTcf^ "TO MTRHpi^url

1965

'C) feeiT M^diPcrinH-H MTRrlPd4)d

1965

(D) T37T ^ <+)*^WlUl MlPdPddicri
1956

82. sTT^mfe" yRiPiP^ OT̂

PlHprjRsid ^ 3T^?r^r t ?

(A) m 3P41#

(B) t3^t^ ■^siTn'ThT y"iiQii

(C) "^3^ y"iici1

(D)

(5)S/27/2022/A

79. In which year, Tilak started Swaraj
(Home Rule) Movement ?

(A) 1914. (B) 1913

(C) 1916 (D) 1912

80. Vinayak Damodar Savarkar was born
on:

(A) 25 May, 1882

(B) 24 May, 1885

(C) 28 May, 1883 ■

(D) 22 May, 1887

81. Which of the following books was not

written by Easton ?

(A) The Political System 1953

(B) A Framework for Political Analysis
1965

(C) A System Analysis of Political Life
1965

(D) An Introduction to Contemporary
Political Science 1956

82. Wliich of the following is incorrect in the
proportional representation system of
election ?

(A) Cumulative vote system

(B) Single transferable vote system

(C) The list system

(D) Alternative vote system

10



83. "^dHkH=h iMHlPd ^ <NHird4>

ctil4lqfV v.M'llfdch oH'=l$K

^  "pRcRtTTSff, TWFRnsff 3TR

t  l" ̂  ̂8T=T

^ t ?

(A) . (B)

(C) (D)

84. ^ "4* RhRiRsiu

^  t ?

(A)

(B) ̂ PiPf^d -t^fea

(C) PHpy^d

(D) ^^^di

85. "gRT *f^ 3fR>

cTR' "^R^iRf ^ qj|Tch<u| ^ SRpf^

#r ciJ|Ich<u| iTTT f I pHHPdP^^d

'^Fm c^J|fch<u| j^iipHoi ^

t ?

(A) TPTOhr ■ (B) XTiRNN

(C) f^R^^TtT^ (D) q'fd'qlq

86. *^HIHlPd4) S^Kldd' ^ "R^

■q^ ?

(A) (B) ^

(C) ^31^ (D)

(5)S/27/2022/A 11

83. "Comparative Politics is concerned with

the important continuity, similarities and
dissimilarities of political behaviour and
functioning of political institutions." To
which thinker does the statement

belong ?

(A) Braibanti (B) Michael Curtis

(C) Jean Blondel (D) K. Roberts

84. Which of the following is inconsistent
■ with the characteristics of a pressure
group ?

(A) Formal organization

(B) Specific self-interest

(C) Fixed tenure

(D) Voluntary membership

85. There are three classifications of

Government given,by Montesquieu in his

book The Spirit of Laws.' Which of the

following is not included in this

classification ?

(A) Republic (B) Monarchy

(C) Autocratic (D) Class system

86. Who used the term * Social Revolution'

for the first time ?

(A) Montesquieu (B) Saint Simon

(C) Mao (D) Marx

P.T.O.



87. ^ ̂ ̂  ̂ wftofin "4*

t¥=Tf^ffeRT "4* ^ ^TTfW

t ? .

(A) WWIcT ̂

(B) d^hW^ld "^rar
;*•

(C) "^rdT

(D) snfsT^ w

88. 'xmfef ^

(A) HfW)-sl^

(B) PelH^d

(C) aiT^

(D) 4^

89. '"^ ^ wfMt' (^

4tf!f) 4* 37^ "nf- 4t ?

(A) 3^4fWT - (B) W

(C) 4h (D) wqH

90. 4^ 4 H<+Hd«ll41 344^

|3TT ?

i^A) "^1?^ H^HSK iTF^Tf^

(B) 4^

(C) 3F1T

(D) 1^4^ ̂

(5)S/27/2022/A 12

87. Which among the following is wo/

included in Max Weber's classification of

Authority ?.

(A) Traditional Authority

(B) Legal Rational Authority

(C) Charismatic Authority

(D) Economic Authority

88. Who gave the concept of 'Political

Culture' ?

(A) Mecredse

(B) Martin Lipset

(C) Gabriel Almond

(D) Weber

89. Which coimtry adopted 'The Great Leap

Forward Policy' ?

(A) America (B) India

(C) China (D) Japan

90. Under whose leadership Naxalbari

Movement started ?

(A) Charu Majumdar and Kanu Sanyal

(B) Medha Patkar

(C) Anna Hazzare

(D) Vinoba Bhave



91. HMq 37fVct)Ki ^

^  cbldsbHl^i^K ^qcrf^

■  :

(i) nfetriistf -^7^ -3^ ̂

ch<A "^Rf^ ch-<^\n

(ii) ̂  3Tf?7^* ̂

(iii) ^87FT STR -^Rn

(iv)

^ 1^ ̂  ̂ ^ .

(A) (i), (ii), (iii) sfk (iv)

(B) (iii), (iv), (i) 37k (ii)

(C) (ii), (iii), (iv) 37k (i)

(D) (i), (ii), (iv) 37k (iii)

92. kFTf^ifecT k' ̂  ̂  R«7T8f^

^  ̂ t ?

(A) ̂ iM

(B) WRif VcH^Hoi^k

(C) l^jflRR

(D) ^

(5)S/27/2022/A I3

91. Consider the following Human Rights

conventions and arrange them as per its

year-wise chronological order :

(i) Convention for the elimination of

discrimination against women

(ii) Convention on Children's Rights

(iii) Genocide and Punishment related

convention

(iv) Convention on end of Racial

Discrimination

Select the correct answer from the codes

given below ;

(A) (i), (ii), (iii) and (iv)

(B) (iii), (iv), (i) and (ii)

(C) (ii), (iii), (iv) and (i)

(P) (i)> (ii), (iv) and (iii)

92. Who among the following is not the

supporter of the Realistic Approach ?
*

(A) George Cannon

(B) Georg Schwarzenbeiger

(C) Henry Kissinger

(D) None of the above

P.T.O.



93. PiHRHr^d

(A) W MTPdHid^

(1946)

(B) 3W ^'cK-^VHd "Rff^rfew

(1979)

(C) 'I^Hd

(1951)

(D) ^ffqr qTrdPid^ (1958)

94. -i^OP^-Md ^Pd^d "4* cicinid '^' "fel^

^ t ?

(A) 28 .

(C) 26

(B) 27

.(D) 29

95. 1945, '=fM "^*,

"^f ^ %ft' ^ TI^ "51^

*TFT 1^ s^T ?

(i) 1fe, artfen, "rWtcT

(ii) f^Ai, "SiRT

■  (iii) ^PiMi, ■^1^, Him

TTTT ^ ^ "3^ :

(A) (i)

(B) =^cid (ii)

(C) (iii)

(D) -q ^ ^ "d^
(5)S/27/2022/A

93.

94.

95.

Choose from the following the book
written by the Neo Liberalist Kenneth
Waltz : ■

(A) Scientific Man v^. Power Politics
(1946)

(B) Theory of International Politics
(1979)

(C) In Defence of National Interest
(1951)

(D) Dilemmas of Politics (1958)

How many member states are in

European Union at present ?

(A) 28 (B) 27

(C) 26 (D) 29

In reference to Yalta Conference,

February, 1945, which of the following
Heads of State had participated ?

(i) Britain, America, Soviet Union

(ii) Britain, America, France

(iii) Soviet Union, China, France

Select the correct answer using the codes

given below :

(A) Only (i)

(B) Only (ii)

(C) Only (iii)

(D) None of the above

14



96. *'"0^
^ TO t l" -3^

^ <rl<sich ^ :

(A) MhT*^TIBi
(B)

(C)

(D)

97. "fe rHMPdnsId
■^f ^ ^ 13^ ^i^Peld ■=!?? t ?
(A) ^ ̂ -1944

(B) W^ ^ TO-^3^

(C) ^ i^^-4

(D) TO ^ ^'^t-44

98. I ̂  ̂  II ̂  ̂ 8T ^i^Rrid ^ftf^
TTSTT ^ "3^
^ TOH =h1P^4< :

(a)

(b)

(c)

(d)

(^/TO^)

T^-TOIHt
"hP^ ~

f^TO

qFif^

(1)

^n
(^)
1815

(2) 1902

(3) 1883

(4) 1648

Codes :

(a) (b) (c) (d) (a) (b) (c)

(A) (1) (2) (3)' (4) (A) (1) (2) (3)

(B) ,(2) (4) (1) (3) (B) (2) (4) (1)

(C) (4) (3) (2) (1) (3) (2)

(D) (3) (2) " (4) (1) . (D) (3) (2). ---(4)

(5)S/27/2022/A 15

96. "One for all and all for one is the

watchword of the collective security."
The author of. above statement is :

(A) Morgenthau
(B) Schwarzenberger
(C) Organski
(D) Claude

97. In reference to Bretton Woods
Conference, which one of the following
is not correctly matched ?
(A) Year of the Conference-1944

(B) Month of the Conference-July

(C) Date of the Conference-4

(D) Number of Countries Participated-44

98. Match List I with List 11 and select the
correct answer using the codes given
below the lists :

List I List II

(Treaty/Events) (Year)
(a) Westphalia (1) 1815

Treaty
(b) Reinsurance (2) 1902

Treaty ,
(c) Anglo-Japan f(3) 1883

Friendship Treaty.
•(d) Vienna

Congress
(4) 1648

(d)

(4)

(3)

(1)

a)

P.T.O.



^  ̂ 3M/3TI^ ?

(i) W

(ii) W

(iii) TORto

(iv)

"f^ ̂  ̂  "^tR -^Pik. 1

(A) (i), (ii) ̂  (iii)

(B) (i), (iii) ak (iv)

(C) (ii)

(D) ̂ H^cki ^

100. 'RclKur ^ rHMfdR^d ■^' ^

t/f :

(i) ^ T3:^ <N^Rl=b T'TTTtf^ ^ W t

(ii) Wftfd ^ W t

1^ 'R ^ -^Piy. :

(A) (i)

(B) c^ciet (ii)

(C) ^ (i) ak (ii)

(D) T?- ^

(5)S/27/2022/A 16

99. Which of the following weapon(s) do!

does not come under the category of

Mass Destruction ?

(i) Nuclear Weapons

(ii) Radiological Weapons

(iii) Chemical Weapons

(iv) Biological Weapons

Select the correct answer using the codes

given below :

(A) (i), (ii) and (iii)

(B) (i), (iii) and (iv)

(C) Only (ii)

(D) None of the above

100. In reference to the 'Deterrence' which of

the following statement(s) is/are correct:

(i) This is a part of Political Strategy.

(ii) This is a part of Military Strategy.

Select the correct answer from the codes

given below :

(A) -Only (i)

(B) Only (ii)

(C) Both (i) and (ii)

(D) None of the above



101. W ̂ ^ ̂

t ?

" ^iiRi ^ '^<11, ^i[^

"5^ ^ "^TTST '<hVih

HlHcnl ■^* 3TWTT,

3T*frT ^Jiila^l oqfcKiMa H®?T

Ti^hr t^a'piai ^ IRI^

^ ̂  OT fRTOT

^ ^ 1^ "^raK ^

W ^ "S^TTf^ ^ f 1"

(A) iT?T?^

(B) ^<^K H^Cl

(C) ^rfecr ^c^ididid

(D) "^. 3TT%§^

102. 26.11.2008 ^ ̂ncf^ =+>i4ciir^4

^ ̂ %TT ^teir ^ M<}i t ?

(A) ^

(B} ^Fen^

(C) MlRbWH

(D)

l5)S/27/2022/A

101. Who gave the stateirient given below in

context of Indian foreign policy ?

"The pursuit of peace, not through

alignment with any major group or

power but through an independent

approach to such controversial or

disputed issues, the liberation of

subjected peoples, the maintenance of

freedom, both national and individual,

the elimination of racial discrimination

and the elimination of diseases and

ignorance which affect the greater part of

the world's population."

(A) Mahatma Gandhi

(B) Sardar Patel

(C) Pt. Jawaharlal Nehru

(D) Dr. Bhimrao Ambedkar

102. Which country is responsible for the

26.11.2008 Mumbai attack in India ?

(A) China

(B) Bangladesh

(C) Pakistan

(D) Myanmar

17 P.T.O,



103. ^ PHHRiR^d ^
"H^ f ?

(i) ^ WRT 8 R^^i, 1985 ̂
[^l<2l< 'H"H<ni "4' I

(ii) ^ ^
"^* t I

(iii) ^ "RfW ̂
"efprff WTTfWqr TT^*
<HlVjiRl=ti "toiRT "I !
f^ ̂  ^ wrt^

(A) (i)

(B) ■^'(i) 3fR-(iii)
(C) chcic^ (iii)
(D) (i), (ii) sfk (iii)

104. (3 1^, 1972)
PdHprlP^d :

(i) i^Weii iFT^ "qr- HiPti^^iil
^Pcrq^ct^K ^ wN

1  .

(ii) ^ 3qFRft ^T?ff ^ 3TTFTt
^  I

(iii) ^ ^ ■^*
#TTR SNit RTtRI "^' ^ ̂5TT^ I

(A) (i), (ii) 3Tk (iii)
(B) (i)3fe(ii)
(C) (ii)3?R(iii)
(D) (i)3m(iii)

(5)S/27/2022/A

103.

104.

Which of the following statements are
correct about SAARC ?

(i) SAARC was established in Dhaka
Summit on 8 December, 1985.

(ii) The Headquarters of SAARC is in
Bangaluru of India.

(iii) The main aim of SAARC is to
promote economic, social.and cul
tural development of peoples of
South Asia.

Select the correct answer using the codes
given below :
(A) Only(i)
(B) Both (i) and (iii)
(C) buly (iii)
(D) (i), (ii) and (iii)

Consider the following statements of
Historical Shimla Agreement (3 July,
1972) :

(i) Shimla Agreement was signed
between Zulfikar Ali Bhutto and
Indira Gandhi.

(ii) Both countries will settle their
disputes through * bilateral
negotiations.

(iii) Both countries have withdrawn their
forces from the borders to maintain
permanent peace.

Which of the above statements are
correct :

(A) (i), (ii) and (iii)
(B) (i) and (ii)
(C) (ii) and (iii)

(D) (i) and (iii)

18



105. ^ ̂

[q'^K cfilpiiy, :

(i) WHT 27 1945 ^

if 2Tt I

(ii) 3TcRt^ ̂ TOT. ylcVHI^H Tj;^*

^ ̂ -H^rftr ^ ̂  i

(iii) ^ ^ 1^ "RVTRT^

^ilfTT t" i

^  ̂ t :

(A) (i) ark (ii)

(B) (i) aSk (iii)

(C) (ii) 3Tk (iii)

(D) (i), (ii) afk(iii)

106. aiidlTd^i ̂ ?T -^FT^ (NATO) ̂

"k' [n*-iRnRsja fq-qi< :

(i) T«ITW ^rf^FRT

M  I

(ii) ^ ^ fk;gn% -qr

anmfer i I

^ f :

(A) (i)

(B) q^qoi (ii)

(C) (i)®rk(ii)

(D) ■=! cit (i) ^ ^ (ii)

(5)S/27/2022/A 19

105. With reference to the International
Monetary Fund consider the following
statements :

(i) It was established on 27 December,
1945.

(ii) To promote International trade and
economic progress of member
states.

(iii) It consists of one board of
Governors, which is working as
general assembly.

Which of the above statements are
correct:

(A) (i) and (ii)

(B) (i) and (iii)

(C) (ii) and (iii)

(D) (i), (ii) and (iii)

106. With reference to the North Atlantic
Treaty Organization consider the
following statements :

(i) It was established by the
Washington Treaty.

(ii) It is based on the principle of
Collective Security.

Which of the above statements are
correct :

(A) Only (i)

(B) Only (ii)

(C) (i) and (ii)

(D) Neither (i) nor (ii)

P.T.O.



107. mm ̂ ^ ^ ̂

^  <5\H "^' ctil4 [4tH! ?

(A) ̂ Kd 3TR 41 i

(B) ^TRcT ^ «^Hdl4^l

(C) W sfk mP+WH

(D) ̂  *WT

108. ^ "^f 1¥=tMw

"q^ :

"simT t I

(ii) 41tM4)i^ 1^

^ ̂ TFT 4 !

(iii) ^ ̂  ^

#TT "q^t ^ "q^ I

■dH^^ ^ "qfN^ ^ I

(A) (i) 3Tk (iii)

(B) (i) sk (ii)

(C) (ii) sfk (iii)

(D) (i), (ii) 3k (iii)

(5)S/27/2022/A 20

107. The Panchsheel Agreement served as the

foundation for relations between two

countries :•

(A) India and China

(B) India and Bangladesh

(C) India and Pakistan

(D) China and Pakistan

108. With reference to the Indo-Sri Lanka

Agreement, consider the following

statements :

(i) It is popularly known as the

Rajiv-Jayawardene Agreement.

(ii) It was signed to resolve the Sri

Lanka Civil War.

(iii) The agreement saw the placement

of the Indian peace keeping force in

Sri Lanka.

Which of the above statements are

correct :

(A) (i) and (iii)

(B) (i)and(ii)

(C) (ii) and (iii)

(D) (i), (ii) and (iii)



109. PiHRrlfed ;

(i) "^STFRT 1945 ^

^ TTf I

(ii) tinted-4 ^ (%T^) ̂

t I

(iii) ^^^ ^

^ "^^WTT t I

Tr^ ̂  fePT t ?

(A) "41-41^^ -

(B) TJ^ TTft^ .

(C) 3M^ ̂  #13^

(D) 37Tf^ 3^ -HIHlf^d) "^tR^

110. 3Tj%H ̂  RtsM ̂

Pi^RiRsid R* ^fhmt ^

^TOFTT "W ?

(A) ̂ RtRpiT

(B)

(C) ̂ <141 fcilN^n

(D)

(5)S/27/2022/A 21

109. Consider the following statements :

(i) It was established in 1945 by a

U.N. Charter.

(ii) Its Headquarters is in the Hague

(Netherlands)

■  (iii) It settles legal disputes between

member countries.

The above statements are * most

appropriately related to which of the

following U.N. Bodies ?

(A) International Court of Justice

(B) United Nations Security Council

(C) International Labour Organisation

(D) Economic and Social Council

110. Which of the following initiatives

resulted in the adoption of the founding

principles of the Non-Aligned Movement

(NAM) ?

(A) Brasilia declaration

(B) Bandung conference
I

(C) Nairobi declaration

(D) Vienna convention

P.T.O.



111. ^

(A) "q^."^. =hlPl^l

(B) VH\^ fiT^r

(C) it.'QTT.

(D) t\.

112. PHHR^Rsld 3^5=^ ̂  ̂

w ̂ iitinrd ^ ^

^  srfqqm ̂  ̂

t ?

(A) 31^^82(1) (B) 3T5^ 84(1)

(C) 3T^^86(1) P) 3T3^88(1)

113. ^ Pj^^H STFlt^ ̂  WM

^  ̂ "d^ ̂  "df ?

(A) 321 (B) 322

(C) 3T5^ 323 (D) 324

114. ST^pfl "2^^ PticiA P^dl ^

(A) 28 P) 25

(C) 24 i^ (D) 23 1^

115. ^ ̂ ̂̂«11#T WTd WR iwff

^  ̂̂#1^ 3n!?R

TRH W ?

(A) 5 1?, 1991 P) 8^, 1991

(C) 1 1?, 1993 (D) 6 1?, 1996

(5)S/27/2022/A 22

111. In India, who was the First President of

the Human Rights Commission ?

(A) HJ. Kania

(B) Rang Nath Mishra

(0) P. N. Bhagwati

(D) Dr. B. Gajendra Gadkar

112. According to under which Article the

President of India has right to address the

joint session of both the Houses of

Parliament ?

(A) Article 82(1) (B) Article 84(1)

(C) Article 86(1) (D) Article 88(1)

113. Under which Article of Constitution was

Election Commission of India

established ?

(A) Article 321 (B) Article 322

(C) Article 323 (D) Article 324

114. In how many days Gandhiji had

completed his Dandi March ?

(A) 28 days (B) 25 days

(C) 24 days (D) 23 days

115. On which date and year the Local Self-

Government units of urban areas have

given Constitutional Foundation ?

(A) 5th June, 1991 (B) 8th June, 1991

(C) 1st June, 1993 (D) 6th June; 1996



116. crl^l TKFT ̂

t ?

(A) 25

(C) 22

(B) 28

(D) 23

117. <l^Hfa Xitn^TEtJH ^IMIdchM ^

(A) 26 37^, 1961

(B) 26 31^, 1962

(C) 26 -^TqTt^, 1963

(D) 26 fiTcTO, 1964

118. ^ 27T, ^

t, "3^ ̂  3TRT

I  ̂ ci4^ T??I ^ aTItnr

■fWf^ "^* ^ "qff

#, cit %

^ "qf^ 3Rf^

t  I"

(A) "ST. 371^^^

(B)

(C) 17W7T

(D) ""7^

(51S/27/2022/A 23

116. How many members does the Public

Accounts Committee consist of ?

(A) 25

(C) 22

(B) 28

(D) 23

117. When did President Radhakrishnan

declare emergency ?

(A) 26th October, 1961

' (B) 26th October, 1962

(0) 26th November, 1963

(D) 26th September, 1964

118. Who said that, "Those who are

dissatisfied with the Constitution have

only to obtain is two third's majority in
the Parliament. But if they cannot earn

two-third majority in adult franchise

basis elected Parliament, then this must

be understood that people are not with

them for their dissatisfaction against
Constitution."

(A) Dr. B.R. Ambedkar

(B) Jawaharlal Nehru

(C) Mahatma Gandhi

(D) Sardar Patel

P.T.O.



119. ^ '^MNciKV

^  ̂ "Rim ̂

"W ?

(A) 62^

(B) 42^

(C) 44^

(D) 73^ ̂ ?iIPT ^?=TR

120. 7FHT W ̂ ^ ̂

t ?

(A) .18 ̂  (B) 21 ̂

(C) 25 ̂  (D) 30 ̂

121. '"^T^ 3TKt^' rdHRriPsld

a^ifk^ ^ ̂?i3RT t ?

(A) (B)

(C) ̂  (D)

122. '"^f^ f^^SRT' RTR^ rl<2iqi

f :

(A) ̂ iPd^dK 41Ri4d

(B) "fe 3TTW

(C) ■^.■^.

(D) ^.T37T.

(5)S/27/2022/A

119. Under which Constitutional Amendment

was the word 'Socialism' added to the

Preamble of the Indian Constitution ?

(A) 62nd Constitutional Amendment

(B) 42nd Constitutional Amendment

(C) 44th Constitutional Amendment

(D) 73rd Constitutional Amendment

120. What is the minimum age for the

membership of the Rajya Sabha ? .

(A) 18 years (B) 21 years

(C) 25 years (D) 30 years

121. With which of the following Tribal

Community is 'Shahada Movement'
associated ?

(A) Santhal (B) Gond

(C) Bhil (D) Kharwar

122. The author of the book 'Dalit Visions'

is :

(A) Eleanor Zealiot

(B) Gail Omvedt

(C) A.G. Noorani

(D) K.N. Panikkar

24



123. ^ ̂  ̂ ̂

(■=^) ^ ktt ?

(A) "4^ Hldch< (B) 37W ^

(C) 3pjcn m (D)

124. ciJhm trofcTfecT ■^* "chlH^I
^TKcI 1^ '^t^\^ T\^ 1%^

t ?

(A) (B)

(C) TTSTFarn (D) ^ ̂

125. <1^1 ^ ^ ^

^ STT ?

(A) "^-"^ ^TRcT

(B) ^--qf^ m?T

(C) -qeq TO

(D) TO

126. Pi^^RlRsid ^ cbln^I XRT 'WT

^  y^i^dl ^ ^ TOT TOT
t ?

(A) ^ftron

(B) "Btr "q^

(C) 7TTOTR

(D) r^HNd "q^

123. Self-Employed Women's Association

(SEWA) worked for the women in the

unorganised sector was formed by whom ?

(A) Medha Patkar (B) Aruna Roy

(C) Amrita Rai (D) Ela Bhatt

124. At present which of the following states
has not a part of BIMARU states in

India ?

(A) Bihar

(C) Rajasthan

(B) Kerala

(D) Uttar Pradesh

(5)S/27/2022/A 25

125. What was the prime focus in the second

phase of Federal Reorganization of
States ?

(A) North-East India

(B) North-West India

(C) Central India

(D) South India

126. Which of the following states is not
popularly related with 'Khap
Panchayat' ?

(A) Haryana

(B) Uttar Pradesh

(C) Rajasthan

(D) Himachal Pradesh

P.T.O.



127. ^ t 1%

2024 ^ ^ ̂

^  ̂̂T-TTTa? ̂  ̂ciif^ ?

(A) 3TT^

(B) ^(rll6=hK ^^Tfrmr

(C) ^TRtry

(D) <S-«=^mH

128. m\ ̂  <NHird ̂  ^ ̂ %TT

'#f W ^ ^ %tt "51^

•dOI'^ ^ c|=hl(rtCl fsfvR ^ll'HMI ^

^ 7

(A)

,  (B) ̂ <cp|Rq| 3^T^.

(C) 3^ aTPlW

(D) HeilHd 31rRt

129. "fer^ ""^^cOT ^ ̂

^  TO ̂

■f^^ -qpc TO ^ # i"

(A)

(B) "TO 51R. "^RT

(C) TO7T ^

■  . (D) W ■^. TOT^

(5)S/27/2022/A 26

127. Who among the following suggested to

have Lok Sabha and State Assemblies

elections simultaneously from the year
2024 ?

(A) Niti Aayog

(B) National Advisory Council

(C) Election Commission

(D) Supreme Court

128. To address the politics of language,

which commission agreed to take

effective steps to implement the 'Three

Language Formula' ?

(A) Mandal Cormnission

(B) Sarkaria Commission

(C) Thakkar Commission

(D) Malimath Commission

129. Who. wrote, "Two political cultures

emerged in Post-Independent India,

which are operating at different levels of

India."

(A) Robert Dahl

(B) Paul R. Brass

(C) Myron Weiner

(D) Paul J. Appleby



130. ^

^ ̂  ̂eFTBT TF^I STfeR^ ■^* ?

(A) 3TT^

(B) ^1<^tu|| a^Rtn

(C) vife^ T3;^.a7R. STPik

(D) -qt.-qTT. 3qT^

131. ^ %TT -q^ oq^f^ RHc^ld
^ ̂  *%Tfe ^ THTT

2TT ?

(A) Tjf^

(B)

(C) ^

(D) "4' ^ ^

132. Hte^TT^ ^ ^
WT^R ^ ̂  #qpT f" ?

(A) irmf (B)

(C) TTR.^. "^If^ (D)

133. PiMRiRaa "s^rmto f^c^idT R ^ l^^chl
^ ^ "HSfMt ^TWTTSjf ^

"OT^ "WTTf^ HhII^^IH frr^
■  f ?

(A) ?TR#7 R^«ai*d

(B) %f^ -mm ^rm
(C) "^TRRWt HhoSIci

(D) iTH^ ^'qicR^ fegTR

{5)S/27/2022/A 27

130. According to which of the following
Commission's. Report the state of
Telangana came into existence ?

(A) Justice J.S. Verma Commission

(B) Justice B.N. Shrikrishna Commission

(C) Justice H.R. Khanna Commission
.•

(D) Justice P.N Bhagwati Commission

131. Who coined the term 'Scientific
Management' for what is considered the
fiist systematic theory of organisation ?
(A) Luther Gulick

(B) Frederick W. Taylor

(C) Louis D. Brandeis

(D) None of the above

132. Who said about Bureaucracy, "Its
hierarchy is a hierarchy of knowledge" ?
(A) Karl Marx (B) Max Weber

(C) L.D. White (D) RW. Taylor

133. Which .;of the following theories of
administration believes that solutions of
management related problems can be
found in social psychology ?
(A) Classical theory

(B) Scienfitic Management theory
(C) Bureaucratic theoiy

(D) Human Relations theory

P.T.O.



134. fern WRR ̂

Mm ^ ̂

^ ?

(A) m MZttM

(B) "sff^ T37T). TW

(C)

(D) -^.V, -

135.1^ MRfe fera ̂  ^

3=n™ ̂  ̂ wn sMfe ^

3THfWi ^ ^ mRT ch<'ii

■q^T s^I ?

(A) RhcSi'ci

(B) 1^T#cr

(C) hh<41^ feicT

(D) %ilM ■^sryPT

136. ^ w^nimr

Mm ^ amtf mr ^

t?

(A) ^ ̂  TJK^

(B) ^ ̂  %te

(C) ^ 4W=6T4

(D) ^ ^ mM

(5)S/27/2022/A 28

134. Who defined development administration

as "An action-oriented, goal-oriented

administrative system" ?

(A) John D. Montgomery

(B) George F. Gaut

■ (C) Edward Weidner

(D) V.A. Pai Panandikar

135. Which theory of administration was

subjected to enquiry by the US

Commission on Industrial Relations for

being incompatible with trade unionism ?

(A) Classical theory

(B) System theoiy

(C) Humam Relations theory

(D) Scientific Management theory

136. Which of the following is considered

structurally most adverse to development

administration ?

(A) Weberian model of bureaucracy

(B) Taylor's model of scientific

management

(C) Gulick's POSDCORB

(D) Henri Fayol's classical model



137. ^ %Ti ^^ichrfMchril ^

MPaHiqi ?

(A) ̂ 2^ (B) Tfe 4)1^d<

(C) ̂  (D)

138. HiTcr^d ^ ̂W. "^" ^ ̂qt?R

^  4)<'^ ■^* "3^^ "-^lA
wJf 1^ t ?

(A)

(B)

(C)

(D) ^ fpOT

139.^ ̂  ̂ ^
^ t :

. (A) 37#T^' OT -3?!^ ^

(B) ^ 37T^ TTH^ tj tjpj^
^PiPf^acii

(C) 3?#T??jT ■% ^ ^
^ 37T^ -WidiK

(D) 37#R8# "gH . "fer fqFRft •%

140. PinRrlRad "4" ^felT Ml^d)T4 ^ W
^  ̂ fd^K

t ?

(A) "^FTHR (B) Pl^J^H

(C) vne^l'i (D)
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137. Who developed contingency theory for
leadership ?

(A) Luther Gulick (B) Fred Fiedler

(C) Peter Blau (D) Charles Beard

138. Which of the following measures
suggested by Follett herself is the best in
her view to manage conflict in an
organisation ?

(A) Domination

(B) Compromise

(C) Integration

(D) Crowd manipulation

139. According to Chester Barnard 'Zone of
Indifference' is represented by ;
(A) Command outrightly rejected by

subordinates

(B) Uncertainty of subordinates in
accepting or rejecting commands

(C) Commands accepted by subordi
nates after raising doubts

(D) Complete acceptance of command
by subordinates without doubt

140. Which of the following is not the right
expansion of any of the seven
POSDCORB concepts ?
(A) Organising (B) Directing

(C) Cooperation (D) Budgeting

P.T.O.



141. ^ ̂  TOR ̂  f I

■pR=#ffecT ■4* i\ chlH-HI ^-"^TRFT ^

M=t)K 'T^ "t ?

(i) BTOR ^ TRSf^R (G2G)

(ii) ^RTOR ^ TOfro (G2C)

(iii) "^tTOR ^ "STOTRT (G2B)

(iv) "^R^ ^ (G2E)

(v) "HTOR ^ ^MR (G2M)

"5^ ^ f :

(A) G2C (B) G2B

(C) G2M (D) G2G

142. HR^ srfWT (TIRfWr) =bl4shH ^

^  TOoRT 37#T STRTT

t?

(A) TOlt^ TOOT

(B) TOOT

(C) TOOT TOOT

(D) TORRft TO

143. "RT iJR: ROTfrogOT;" ^
3^ ROT (Rt^) t ?

(A) TO#T M^TTOT

(B) RR^ RR dl=hMld

(C) ^^^

(D) R^ OTRtro R^kR
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141. There are four types of e-Governance.

Which one among the following is not

a type of e-Govemance ?

(i) Government to Government (G2G)

(ii) Government to Citizen (G2C)

(iii) Government to Business (G2B)

(iv) Government to Employee (G2E)

(v) Government to Market (G2M)

The correct answer code is :

(A) G2C (B) G2B

(C) G2M (D) G2G

142. The Swachh Bharat Mission (Rural)

programme comes under which Ministry

of the Central Government ?

(A) Ministry of Rural Development

(B) Ministry of Jal Shakti

(C) Ministry of Health

(D) Ministry of Panchayati Raj

143. "Ma Gridhah Kasyasviddhanam'* is the

motto of which institution ?

(A) Enforcement Directorate

(B) Lokpal of India

(C) Madhya Pradesh Lokayukta

(D) National Consumer Forum



144. TnTTtTTT Ritit

(R^) ̂q^SFTT tj%: feT*f t ; ■

(A) <1^1^ R\tii ^

(B) ITrM

(C) xrN irfMt ̂  ̂Nptr t^ifq ^

(D) iTTT^ ̂

s[Rr

145. STrfsf^ 13^' ^i^jp^ch -f^pfPsH' ^

VIllHd f ?

(A) ̂  ̂ ^ ̂

(C) RRR^ ̂  (D) ^

146. ̂ I^^Plch ̂  TR ^ TTfe^
^ ̂ ^ •4" f^HlTcfTW
^ ̂ t ?

(i) fiTTfu[ T}(^ ^ ̂
^ t I

(ii) ̂  R^ 15 ̂  ̂qr ̂  RR\
7 ̂  ^ ̂  f I

(iii) TTMt ̂  ̂  ̂ T^*
^^itA<aichK -qf^^ ^ iTfWr ̂

t  I

(iv) ^ ^ 3Q I I
(v) ^ Pi^R^i f^rrai gRf
^ ̂»n?it t" I

Chi ■§■ ;
(A) (i), (ii), (iii), (v)
(B) (iii), (iv), (v)
(C) (ii), (iii), (iv)
(D) (i), (ii), (iii)
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144. Mahatma Gandhi National Rural
Employment Guarantee (MGNREGA)
scheme is fully funded through :
(A) National Employment Guarantee

Fund

(B) Rural Employment Security Fund
(C) Rajiv Gandhi Youth Employment

Fund

(D) Prime Minister Employment
Security Guarantee Fund

145. 'Economic and Social Planning' is
included in which list of the
Constitution ?
(A) Union List (B) State List
(C) Concurrent List (D) Residual List

146. Which of the following statements are
correct for Parliamentary Public
Accounts Committee, which is formed to
control public expenditure ?
(i) It is formed for each financial year.
(ii) Its members included 15 from Lok

Sabha and 7 from Rajya Sabha.
(iii) Its main function is to check the

report of Comptroller and Auditor
General.

(iv) It has total 30 members.
(v) Its Chairman is appointed by the

Finance Minister.
The correct answer code is ;
(A) (i), (ii), (iii), (v)
(B) (iii), (iv), (v)
(Q (ii), (iii), (iv)
(D) (i), (ii), (iii)

P.T.O.



147. "^T^TT RTm

t : ■

(A) "^ff^ '^" H't^a =ti<.d

(B) ofe W "^' ^ ̂ ̂

(C) ̂  W ^WT

(D) ̂  ^ ^

148. "3^ 4-4Ndl "^R ^ 3^^^,
TITH "^1^ "4* t :

(A) TIFT "^T^ ^ 4il4=hM "^^T ^ ̂
f  I

(B) Fm ̂  McKldl ^ "RFrfW
'IMIRdi ^ illH ^

f  I

(C) TIFT WR "FFT ^"FT ^
tWri ^"HK RFTT "I" 1

(D) TIFT TTO ̂  WR F;^* ^-WR,
HFT "^FTT ^ "F^ WR F^* ̂ -WR

^ f I

149. PdHr^fed ^ FiFT ^ M
t :

(A) ̂ RR-F^ T^WFFT

(B) WTRTf^ iJeFfFFT

(C) -MlPFdi ^Q-4l=til

(D) TJrFfFFT

150. "FF SlfeR STt^rPFFT, 2005 ̂  Ito
TO ̂  "d^ TFR "^FR
3FFW ^ici'l "FRdT "t" ?

(A) TO 16

(C) TO 22(D)
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(B) TO 15

(D) TO 21

147. The Budget is presented in the Rajya
Sabha :

(A) at the time of budget presented in
the Lok Sabha

(B) after the budget is passed in the Lok
Sabha

(C) as the Finance Minister ends his
budget speech in the Lok Sabha

(D) during the general discussion on
budget in the Lok Sabha

148. The incorrect statement related to Gram

Sabha, under the Madhya Pradesh
Panchayati Raj system is :

(A) Gram Sabha has tenure of five years.

(B) Citizen enrolled in the electoral list
of village are the members of Gram
Sabha.

(C) The record of meetings of Gram
Sabha is prepared by Gram
Sarpanch.

(D) Sarpanch and Up-sarpanch of Gram
Panchayat are the . Ex-officio
Sarpanch and Up-Sarpanch of the
Gram Sabha.

149. One among the following is not a
category of policy-evaluation :

(A) Market-Impact Evaluation

(B) Administrative Evaluation

(C) Judicial Evaluation

(D) Political Evaluation

150. Under which Section of Right to
Information Act, 2005, each state has to
form State Information Commission ?

(A) Section 16 (B) Section 15

(C) Section 22(D) (D) Section 21
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